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1. Overall Description:

RAN3 would like to thank SA5 for the SON enhancements progress work in RAN3 containing additional questions to RAN3.

Issue 1: Handover failure with and without RRC state transition

Q1:
Does RAN3 think that mentioned KPIs a) and b) will be still useful for MRO performance evaluation in releases with the capability for context fetching between eNBs which is being addressed in RAN3/2? For which releases this capability is relevant?

A1:
The KPIs can be used to evaluate how well the system is able to select the suitable target cell before the failure occurs. Context fetch, if agreed, may enable the re-establishment cell to successfully re-establish the connection even if not prepare but rejected re-establishments may still occur.
Q2: 
If the answer for the question above is yes, are the means for the source eNB to judge whether a RLF caused by a handover failure was followed by a successful RRC re-establishment available in RAN specifications?

A2: 
In most cases, the source eNB will be able to determine whether a re-establishment is successful or not but there are cases where the source cannot know.
Q3:
If no, would RAN3 like to provide the means to support this requirement?
A3:
RAN3 is currently discussing solutions for detecting failed re-establishments. If agreed, this could be used to determine whether a re-establishment is successful. 

Issue 2: Problem detection in MRO case “handover to wrong cell”
Q1:
So the question to RAN3 is that, in the HWC (A-B-C) case mentioned above, which one of the neighbour relation from cell A to cell B and from cell A to cell C may be problematic, or both?
A1:
RAN3 agrees that for the HWC (A-B-C) case, the failure occurs in the first cell relation (A-B), hence the first relation is problematic. The relation (A-C) may or may not be problematic.
2. Actions:

To SA5 group.

ACTION: 
RAN3 asks SA5 to take the above into account
3. Date of Next RAN3 Meetings:

3GPPRAN3#85-BIS, 6-10 Oct 2014, Shanghai,CN
3GPPRAN3#86, 17 - 21 Nov 2014, San Francisco, US 

�PAGE \# "'Page: '#'�'"  ��to be removed before LS is sent





